HPE_CIEF-Zapfen-Empfindlichkeit y44(A)=1

Ir10_,10)=B11XF10_1,1(A)+B12YF10_L,1(A)

+BagZrig 11N

2,0} Blj 0,2170 0,8357 —-0,0435=570

D65:3T (10 1 1(1)=20,51
Xg10 (.1=0,2271

500 600

WellenlangeA /nm

CG500-1A 1



HPE_CIEF-Zapfen-Empfindlichkeit y44(A)=1

Ir10_,10)=B11XF10_1,1(A)+B12YF10_L,1(A)

+BagZrig 11N

2,0} Blj 0,2170 0,8357 —-0,0435=570

D50:3T (10 1 4(1)=20,78
Xg10 (.1=0,2538

500 600

WellenlangeA /nm

CG500-1A 1



HPE_CIEF-Zapfen-Empfindlichkeit y44(A)=1

Ir10_,10)=B11XF10_1,1(A)+B12YF10_L,1(A)

+BagZrig 11N

2,0} Blj 0,2170 0,8357 —-0,0435=570

P40:3T 10  1(1)=21,69
Xg10 (.1=0,2849

500 600

WellenlangeA /nm

CG500-1A 1



HPE_CIEF-Zapfen-Empfindlichkeit y44(A)=1

Ir10_,10)=B11XF10_1,1(A)+B12YF10_L,1(A)

+BagZrig 11N

2,0} Blj 0,2170 0,8357 —-0,0435=570

A00:3T £10 | 1(A)=23,43
Xg10 (.1=0,3591

400 500 600

WellenlangeA /nm

CG500-1A 1



HPE_CIEF-Zapfen-Empfindlichkeit y44(A)=1

Ir10_,10)=B11XF10_1,1(A)+B12YF10_L,1(A)

+BagZrig 11N

2,0} Blj 0,2170 0,8357 —-0,0435=570

E00:3T 10 1 1(1)=21,46
Xg10 (.1=0,2430

500 600

WellenlangeA /nm

CG500-1A 1



HPE_CIEF-Zapfen-Empfindlichkeit y44(A)=1

Ir10_,10)=B11XF10_1,1(A)+B12YF10_L,1(A)

+BagZrig 11N

2,0} Blj 0,2170 0,8357 —-0,0435=570

CO0:3T £y L 1(A)=20,03
Xg10 (.1=0,2258

500 600

WellenlangeA /nm

CG500-1A 1



HPE_CIEF-Zapfen-Empfindlichkeit y44(A)=1

Ir10_,10)=B11XF10_1,1(A)+B12YF10_L,1(A)

+BagZrig 11N

2,0} Blj 0,2170 0,8357 —-0,0435=570

P00:3T (10 ( 1(1)=21,89
Xg10 (.1=0,2661

500 600

WellenlangeA /nm

CG500-1A 1



HPE_CIEF-Zapfen-Empfindlichkeit y44(A)=1

Ir10_,10)=B11XF10_1,1(A)+B12YF10_L,1(A)

+BagZrig 11N

2,0} Blj 0,2170 0,8357 —-0,0435=570

Q00T 10  1(\)=21,18
Xg10 (.1=0,2230

500 600

WellenlangeA /nm

CG500-1A 1



